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Bl (kg/10a) (% B (keg/10a) (% (ke/102)  (kg/108) )
HZIZLE 5/5 598 30 6/22 626 48 1,224 121 303
M SPFEHIEY 5/7 538 36 6/22 660 66 1,198 108 27.0
SAHEY 5/8 469 34 6/25 538 85 1,006 87 21.7
HLIY &L 5/10 426 35 6/26 540 7 967 99 24.7
#* AILA 5/13 552 42 6/30 668 93 1.220 112 28.1
(R EB) PSE- 5/8 440 39 6/26 472 78 912 89 22.3
HAIZLE 5/12 848 76 6/25 684 80 1,532 14.2 355
m IVENEY Y19 883 93 6/21 143 95 1,625 13.8 34.5
A Sz HEY 5/14 576 90 6/30 623 93 1,199 108 27.1
ey HLVY KL 5/11 1701 90 6/30 697 92 1,399 119 29.8
x® AILA 5/21 793 97 1/4 812 99 1,605 124 31.0
GHR) & 5/17 714 98 6/30 627 98 1,341 11.7 29.4
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